K3 SARIEY—ERCHE)Y—ERXa—F& (R34.1~) ErEEEs
-U-_Ez:_F > o3 = AE‘Z %ITHE
= —E RN EREFR 1] Nt A
@E| 5H s I RERE _ wi| wi
= ST ZHIE PR 2053 LA | AR _
K3 | 11 |ERERY—EZ00 S_CRUEE)_[ERHEE Bl [Mo3aAED so71EI=oZ
= TR HEEdHRBE|1-2GA2EFET) 20 L E(4n A H _
K3 | 2111 |FAREHY—ERCQ FoER OmE) BERAET) 307|1@EI=DE
K3 | 3111 |A—EMEHED EEFER—BYORAEXEI g’gﬁﬁmjﬁﬁfﬁh\f 456
DR —IOFH AE20 ALY — g 1B
= = > =48 A
K3 | 3112 |A—&MREQ ERZT55E 90% (45 B H 5654 276
K4 By —EXCHEB) Y—EXO0—F% (R4.4.1~) EREESD
"j'—l:“Z:I—F S o — éﬁk_ ﬁfﬁ
— —EXAR N T - —
mE| mE | - MR FERR miis| B
K4 1111 [@FREY—ERC(I)D EH E hE T R E;Ei%gi}?ﬁ 2,200
- : H—ER(HE)|EFENEE - EXIE 5&1@&1(473}%\ 181zD2%
K4 | 1112 |@BFRFEY—EXC(I)@ (1) 561 BET) 1320
K4 2111 | @Ry —ERC(I)D EHESLERE E;Ei%gi}?ﬁ 4,200
Y—ER (B H)|EXE B AnER 1AIz0&
K4 | 2112 |BFREH—ERC(I)Q (Im) ’é%ﬁi@ 2,520
pa—— F—— FEBE x 10
Ka [ 5111 |EEBBID EESOESRE 333 (HI FE B i i3 1,540
. = FREBGIE x70%
Ka | 5112 |EEEE20 BXiR2 (*”Fﬁlaﬁyég%% 2,940 B
e . ] = FREBEMZR x70% -
K4 5113 |EB#BA1Q EEXNRE-EXIE (AnAhn6nAZE 924
. = FREBGIE x70%
Ke | 5114 |EE#:E202 BXiR2 (AnALS6HBE 1,764




